
 

 

[solving systems by graphing][section 24] 

 

(1.)  x + y = 6               

 

      x - y = 4                here is the problem 

 

Here is the graph: 

 

 

 

result:  x = 5  and  y = 1 

 

(2.)    x + y = 2 

 

       2y - x = 10           here is the problem 

 

Here is the graph: 

 



 

 

 

result:  x = -2 and y = 4 

 

(3.)   x - 5y = -14 

 

       3x + y = 6               here is the problem 

 

Here is the graph.  



 

 

result: x = 1 and y = 3 

 

(4.)  x + 4y = -5 

 

      3x + y = -4                here is the problem 

 

Here is the graph: 

 

result:  x = -1  and y = -1 

 

 

 

(5.)    3x + 2y = 4 

 

        2x - 3y = 7         here is the problem 

 

Here is the graph: 



 

 

 

result:  x = 2 and y = -1 

 

(6.)   2x - y = 10 

 

       x + 2y = -5               here is the problem 

 

Here is the graph:  

 



 

 

result:  x = 3 and y = -4 

 

(7.)    3x + y = 6 

 

        x - 2y = 2             here is the problem 

 

Here is the graph: 

 

 

 

result:  x = 2 and y = 0 

 

(8.)  x - y = 5 

 

      x + y = 7              here is the problem 

 

Here is the graph: 

 



 

 

 

 

result:  x = 6  and  y = 1 

 

 

(9.)    x + y = 1 

 

        y = x + 1            here is the problem 

 

Here is the graph: 



 

 

 

 

result:  x = 0 and y = 1 

 

(10.)  y = -x + 5           

 

       y = (1/3)x + 1           here is the problem 



 

 

Here is the graph: 

 

result:  x = 3  and y = 2 


